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32 JUoooobood

321 0U0O0O00O0O0O0O0OO0

>> a=1

322 000OODOOOOOODOOOOOOOOODOGUOODOOOOOODOOD

>> b=2;
>>

323 (%000000000000000000O000O0

>>400o0o000oo
>> x=a/b 000000000

0.5000
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324 O0O0OOO0OOO0300DL0UOxUOOOOOOOOnO

>> a=1+...
2....
+3
a=
6
N

33 Uoouon

331 000O00DO(0OO0OD0O0O000EOO E]Eiiiii’

>> a=[1, 2, 3; 4, 5, 6; 7, 8, 9]

>> a=[123; 45 6; 7 8 9]

-

332 0O0O0OU

>> n=zeros(3, 4)
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333 bOooooo1

>> m=ones (3, 4)

n =
1 1 1 1
1 1 1 1
1 1 1 1

\_

334 0000

>> c=eye(3, 3)

34 JOOoooon

341 O0O0O=[000:00:000]1

>> a=[1:0.5:3]

1.0000 1.5000 2.0000 2.5000 3.0000

342 O0OO=linspace(CO0,000,000)

>> a=linspace(l, 3, 5)

1.0000 1.5000 2.0000 2.5000 3.0000
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35 Uuouoonod

351 O0O0O=logspace(0 000, 0000,0000)

>> b=logspace(-1, 1, 5)

0.1000 0.3162 1.0000 3.1623 10.0000

36 UUOUUooo

361 00010000000

>> d=rand(3,3)
d =
0.9501 0.4860 0.4565
0.2311 0.8913 0.0185
0.6068 0.7621 0.8214
\_

3.62 JOUOo0obOOObO100000O0

>> d=randn(3,3)
d =
-0.4326 0.2877 1.1892
-1.6656 -1.1465 -0.0376
0.1253 1.1909 0.3273
_
3.7 OO

3.71 0O0OOOOO

>> b=1+sin(pi/2)*2*372/6
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38 Uouooonod

4 ‘=
>> X+Y
ans =
>> X-Y
ans =
0 -3
-1
-3 0
\
381 0OO0OO
/
a =
1
7
>> a’
ans =
>> b’
ans =
\_
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382 0OOU4gd

>> X*xY

ans =

>> X.*Y

ans =

>> Y2

ans =

>> Y."2

ans =

>> exp(eye(3,3))

ans =
2.7183 1.0000 1.0000
1.0000 2.7183 1.0000
1.0000 1.0000 2.7183
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383 UOUUd

>> A/B

ans =
3.0000
-1.0000

>> A*xinv(B)

ans =
3.0000
-1.0000

>> A\B

ans =
0.2000
1.4000

>> inv(A)*B

ans =

(@]

.2000
.4000

[y

>> A./B
ans =
0.3333

1.5000

>> A.\B

ans
.0000
.6667

o w

-4.
.0000

3

1

0000

.0000
.0000

.0000

.0000

.0000
.0000

.0000
.0000
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39 Uoouggdg

391 y=f(x)000000

>> x = [0:0.2:10];
>> y=besselj(0,x);
>> plot(x, y)

>> hold on

>> z=besselj(1,x);
>> plot(x, z, ’r’)

>> grid on;

>> title(’Bessel Functions’, ’fontsize’, 18)

>> xlabel(’x’, ’fontweight’, ’bold’, ’fontsize’,

14)

>> ylabel(’J_n(x)’, ’fontweight’, ’bold’, ’fontsize’, 14)

>> text(1.2, 0.8, ’ J_0(x)’, ’fontweight’, ’bold’,
>> text (3.3, 0.25, ’ J_1(x)’, ’fontweight’, ’bold’

’fontsize’, 14)

, ’fontsize’, 14)

Bessel Functions

05 I I I I I

031000000
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392 O0OOOOOOoOO

031:000000

fontsize’ oooooooooi2,14,..
"fontweight’ 00000000 normal’, 'bold’,....
“color’ oooooooooog’r,'p,’e,..
‘linewidth’ oooootd,2,..

"linestyle’ goooo’,’ /...

393 UD0OO200000000

032000200000000

loglog loglog(x, y) O000yOOOO0OO0OO0OO0DO

semilogx | semilogx(x, y) 000 yOxOOOOOOO

semilogy | semilogy(x, y) Oo00yOyOOOOoOooo

plotyy plotyy(x1,y1,x2,y2) | (xLyl) DOOOO0OO00O(X2y2)000000000
polar polar(theta, r) ooooooo

bar bar(x, y) ooono

barh barh(x, y) oooooo

errorbar | errorbar(x, y, erb) oooooooooo

pie pie(y) ooono

contour | contour(Z) 200 00000000000 Oood
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394 OD0OUOOOOOO

>> x = [0:0.2:10];
>> y=besselj(1,x);
>> subplot(2, 2, 1)
>> plot(x, y)
>> text(0.15, -0.2, > J_1(x)’, ’fontweight’, ’bold’, ’fontsize’, 14)
>> y=besselj(2,x);
>> subplot(2, 2, 2)
>> plot(x, y)
>> text(0.15, -0.2, ’ J_2(x)’, ’fontweight’, ’bold’, ’fontsize’, 14)
>> y=besselj(3,x);
>> subplot(2, 2, 3)
>> plot(x, y)
>> text(0.15, -0.2, > J_3(x)’, ’fontweight’, ’bold’, ’fontsize’, 14)
>> y=besselj(4,x);
>> subplot(2, 2, 4)
>> plot(x, y)
>> text(0.15, 0.2, ’ J_4(x)’, ’fontweight’, ’bold’, ’fontsize’, 14)
\
0.4 0.6
03 0.4
0.2
0.1 0.2
0 0
0.1
02 4, 0 021 J, (X)
3 2 4 6 8 10 4 2 4 6 10
0.6 0.4
0.4 03
0.2
0.2 0.1
0 0
-0.1
02fdy ) 02 d, ()
o 2 4 6 8 10 R 2 4 6 10

032000000
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310 Dooooon

3101 OOORCOOODOOOO
RCODODOOORC=1[sj]00000D0O00OO0DOOO

()00000 BodeO O

>> num=1;
>> den=[1, 1];

>> sys=tf (num, den)

Transfer function:

>> bode(sys) % or bode(num, den)

Bode Diagram

0 T T

20 F

Magnitude (dB)

95

30 F

35 |

|

o~

5l
T

Phase (deg)

,go i i i PR | i i L PR |
-2 -1 0
10 10 10

Frequency (rad/sec)

033:RCOOOOO BodeO O
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(200000 NyquistO O

<>> nyquist(sys) % or nyquist(num, den)

Imaginary Axis

-0.2
-0.4
-0.6

-0.8

@)ooooooo

Nyquist Diagram

Real Axis

0 34: RCODOOOD Nyquist 00

[>> impulse(sys) % or impulse(num, den)

Amp | itude

Impulse Response

0 1 2 3 4 5

Time (sec)

035RCOO0D0000000000O
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@)oooooo

[>> step(sys) ' or step(num, den)

Amp| i tude

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Step Response

2 3 4

Time (sec)

036 RCOODOOOOOO0O0O0O
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3102 U0gOOOoOoOoOoodn

0000000000000 QOOD000D000000000000000000m=1[kgl,wy=1][rad/s]
oooQ

\
>> tt=[0: 0.01: 10];
>> y=[1;
>> for Q=[0.2, 0.5, 0.8, 2]
y=[y, step(1, [1, 1/Q, 11, tt)];
end
>> plot(tt, y);grid on
J
1.5
//
1 /
//
/
/
0.5 / -
/
/
//
/
0 | | | | | | | | |
0 1 2 3 4 5 6 7 8 9 10

0370000000000
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311 UOogooooon

3111 0OO0O0O0O0oooon
gbooobooboooobooon

-

>> clf;
>> t=[0: 0.002: 1];
>> N=size(t, 2)
N =
501
>> y=(15*t) . *exp(-10*t) . *sin (20*pi*t) ;

>> z=zeros(1l, N);

>> for k=1:1000
x=y+(rand(1, N)-0.5);
Z=Z+X;
if k==

subplot(5, 1, 1), plot(t, z/k); ylabel(’k=1);

text (0.8, -0.5, num2str(std(z/k-y)~2), ’fontweight’, ’bold’);
elseif k==10

subplot (5, 1, 2), plot(t, z/k); ylabel(’k=10’);

text (0.8, -0.5, num2str(std(z/k-y)~2), ’fontweight’, ’bold’);
elseif k==100

subplot(5, 1, 3), plot(t, z/k); ylabel(’k=100");

text (0.8, -0.5, num2str(std(z/k-y)~2), ’fontweight’, ’bold’);
elseif k==1000

subplot(5, 1, 4), plot(t, z/k); ylabel(’k=1000’);

text (0.8, -0.5, num2str(std(z/k-y)~2), ’fontweight’, ’bold’);
end
subplot(5, 1, 5), plot(t, y); ylabel(’signal’);

end;

N
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k

10

k

100

k

1000

k

signal

Ul
|
0. 078483
! ! ! ! ! ! ! ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
T T T T T T T T T
0. 008221
! ! ! ! ! ! ! ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
T T T T T T T T T
0. 00088732
! ! ! ! ! ! ! ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
T T T T T T T T T
8. 0206e-005
! ! ! ! ! ! ! ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
T T T T T T T T T
! ! ! ! ! ! ! ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

0380000000000

31



